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Guess Paper – 2010
Class – X
Subject – Mathematics
Q . 1. Find a point on the x-axis which is equidistance from the points (7, 6) and (-3, 4).
Q . 2. Show that the points A (1,2),B (5,4),C (3,8) and D (-1,6) are the vertices of a square.
Q . 3. If A(6,-1), B(1,3) and C(k,8) are three points such that AB = BC, find the value of k. 

Q . 4. By distance formula, shoe that the points (1,-1), (5,2), (9,5), are collinear.

Q . 5. Find the ratio in which the point P (m,6) divides the join of A(-4,3) and B(2,8). Also find 
the value of m.

Q . 6. In what ratio is the line segment joining the points (-2,-3) and (3,7) divided by the y-axis . 
Also. find the coordinates of the points of division. 

Q . 7. Two vertices of a 
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ABC are given by A(6,4) and (-2,2), and its centroid is G(3,4).Find the coordinates of the third vertex C of ABC.

Q . 8. Show that the points (a, b + c), (b, c + a), (c, a + b), are collinear . .

Q . 9. Find the area of quadrilateral ABCD whose vertices are A (-5,7),B (-4,-5),C (-1,-6) and D(4,5). 
Q. 1. Find the value of p for which the& equation: [image: image2.png]


has two equal roots.

Q. 2. Find the discriminant of the quadratic equation [image: image3.png]


and hence find the nature of its roots.

Q. 3. Find the sum and product of zeroes of the polynomial [image: image4.png]



Q. 4. If -4 is root of the quadratic equation 

[image: image5.png]


find the value of p

Q. 5. For what value of k will the following system of linear equations have infinite solution

[image: image6.png]k+1




, [image: image7.png]20k +1)x+9y

k+1




Q. 6. Solve for x and y: 

[image: image8.png]


, [image: image9.png]



Q. 7. Find two consecutive numbers, whose sequence  have the sum 85.

Q. 8. solve for x: 

[image: image10.png]1
K ox-
2

=0




Q. 9. How many numbers of two digits are divisible by 7.

Q. 10. Divide: 

[image: image11.png]=3x" +4x+5
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Q. 11. Solve the following equations graphically [image: image13.png]
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Shade the region between the two lines and x-axis.

Q. 12. If five times the fifth term of an A.P. is equal to 8 times its eighth term, show that its 13thterm is zero

Q. 13. A class consists of a number of boys whose ages are in A.P., the common difference being 4 months .Ifthe youngest boy is just eight years old and if sum of the ages is 168 years, find the number of boys in the class.

Q. 14. Ram can row a boat 8 km downstream and return in 1 hour 40 minutes. If the speed of the stream is 2 km/hour , find the speed of the boat in still water

Q. 1. Solve for x and y: 

[image: image15.png]xX-y=



, [image: image16.png]2r-y=0



. 

Q. 2. If [image: image17.png]


and [image: image18.png]


are the zeroes of the quadratic polynomial[image: image19.png]


: find [image: image20.png]at+ g*



.

Q. 3. Find the quadratic polynomial, the sum and product of whose zeros are -3 and 2respectively.

Q. 4. Find the sum and product of zeroes of the polynomial [image: image21.png]2P+ 7x+10




Q. 5. Solve for x:

[image: image22.png]4+ Bots



and [image: image23.png]< oo

=14



.

Q. 6. For what value of k will the following system of linear equations have no solution

[image: image24.png]3x 4+ y



,[image: image25.png]Q@k-Dx+ (k-1)y=2k+1




Q. 7. Solve for x and y:

[image: image26.png]


, [image: image27.png]



Q. 8. Find the values of p and q for which the following system of equations has infinite number of solution;

[image: image28.png]



Q. 9. Verify that [image: image29.png]


are the zeroes of the cubic polynomial [image: image30.png]P =3 -5 -11x-3.




Q. 10. Solve [image: image31.png]2x+3y=11
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and hence find the value of m for which[image: image33.png]y=mx+3




Q. 11. Divide the polynomial p(x) by the polynomial q(x) and find the quotient and remainder. 

[image: image34.png]7 35?4+ 5x-3,
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Q. 12. Solve the following equations graphically [image: image36.png]
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Shade the region between the two lines and x-axis.

Q. 13. A man travel 600 km partly by train and partly by car . If he covers 400 km by train and the rest by car , it takes him 6 hours 30 minutes. But if he travels 200 km. by train and the rest by car , he takes half an hour longer. Find the speed of the train and thQ. 1. A steel wire, when bent in the form of a square , encloses an area of 121 sq cm. The same wire is bent in the form of a circle. Find the area of the circle.?

Q. 2. Find the area of the shaded region in the given figure. ?

[image: image38.png]



Q. 3. In the given figure , sectors of two concentric circles of radii 7 cm 3.5 cm are shown .find the area of the shaded region.?

Q. 4. In the given figure, ABCPA is a quadrant of a circle of radius 14 cm. With AC as diameter , a semicircle is drawn. Find the area of the shaded region ?

Q. 5. The short and long hands of a clock are 4 cm and 6 cm long respectively. Find the sum of distances travelled by their tips in 2 days . ?

Q. 6. In the given figure [image: image39.png]AABC



, is right angled at A, with AB = 6 cm and AC = 8 cm. A circle with centre o has been inscribed inside the Triangle. Find the value of r , the radius of the inscribed circle.? 

[image: image40.png]



Q. 7. A horse is placed for grazing inside a rectangular field 70m by 52m. A B It is tethered to one corner by a rope 21m long . On how much area can it graze? How much area is left ungrazed? 

Q. 8. Two circles touch externally. The sum of their areas is 130 [image: image41.png]


sq cm and the distance between their centers is 14 cm . find the radii of the circles
at of the car. 
Q. 1. The angle of elevation of a cloud from a point 60 meters above a lake is [image: image42.png]30°



and the angle of depression of the reflection of the cloud in the lake is [image: image43.png]60°



.Find the height of cloud.

Q. 2. From the top of a tower 60 meters high , the angles of depression of the top and bottom of a pole are observed to be [image: image44.png]45



and [image: image45.png]


respectively. Find the height of the pole if the Pole and tower stand on the same plane.

Q. 3. A vertical tower stands on a horizontal plane and is surmounted by a vertical flagstaff of height h. At a point on the plane, the angles of elevation of the bottom and the top of the flagstaff are [image: image46.png]


and [image: image47.png]


respectively. Prove that the height of the tower is 
[image: image48.png]htan o
tan f—tana




Q. 4. The angle of elevation of an aeroplane from a point on the ground is [image: image49.png]45



 . After flying for 15 seconds, the elevation changes to [image: image50.png]30°



.If the aeroplane is flying at a height of 2500 meters, find the speed of the aeroplane .

Q. 5. An aeroplane when 3000 m heigh passes vertically above another aeroplane at an instance when their angles of elevation , at the  same observation  point are [image: image51.png]


and [image: image52.png]45



respectively. How many meters higher is the one than the other.

Q. 6. A round balloon of radius r subtends an angle [image: image53.png]


at the eye of the observer while the angle of elevation of its center is [image: image54.png]


. Prove that the height of the centre of the balloon is
[image: image55.png][rsinﬂcosec





Q. 7. Two stations due south of leaning tower which leans towards the north are at distance a and b from its foot . If [image: image56.png]


,[image: image57.png]


 be the elevations of the top of the tower from these stations , Prove that its inclination [image: image58.png]


to the horizontal is given by

[image: image59.png]mm:[bcom—acotﬂ}
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